
 

2.32
Calculation of Aue Atomic Mass

2

Representations of atoms molecules

Empirical formulas
Isomers

Mole
Molar Mass
calculation stoichiometry



2 3 Ave atomic mass

atomic ofprotons
6

Ic f E'TeighEFacerase of see12.0114
individual isotopic masses

Marblefactory

q
100 marbles into each bag

13,7 4.32g

536g 86.3 536g
4.329

86.313.7 AveMarble

Weighted Axe
z 3 I

o 137 x 4.32g o 594184 g
o 863 x 5.36g I 62 568 g

x mass
Ave 5.2 I 1752marble 4g S5 22 g T5.22



5 22g 522g into each100marbles x 1 Axe marble
bag

On average if I weigh out 522g
of marbles than each bag will have
N 100 marbles

Oxygen
18

160 to O g
Relative natural
abundance

99.762 0,0380 0.200
f mass of isotope in amu

mass 15.995 16.999 17.999
a lawn 1.0073aww

n u lawn Li 0087aww

WeightedAnelle
0160 99 762 Ox 15.995aww

100 oxygen
contributionfrom

0.99762 x 15.995mm 15.9569319 aww

expressed mass
in decimal
form

O 15,995 amo'D x
0 15 9569319 aww

100oxygenatoms



0.0380 O

0.200 To

99.762

Axe oxygen
mass

5 16
5 99.762aww D 15 9569319 Amu

O 15,995 amo'D x
100oxygenatoms 4

5 30
70 16.999 aww x

0 0,00645962 aww
100oxygenatoms

5 341 0 17.999 aww x 0.035998 aww

100 oxygenatoms

15.99938952 awwto
Ave for Oxygen 15.999 aww

Filming X



IEit160 O 0
Individual Isotopes Individual

Atoms

OE OE
Esp 8p
9 n lo n

99.762 o 99762 decimal

aa.IE
what does mean How do we calc

part
whole

too

part x too 99.762
whole sample

too 99.762
Total oxy atomsmeasured



part per hundred

8.955 10 0 atoms woo 99.762 8
8.976 x 10 oxygen atoms

pot part per hundred Pant x oo
whole

ppm

ppt part per thousand poet
whole

X 1000

part 6
ppm part per million x 10

whole

ppb parts per billion

Concentration part
where



µµ axe atomic mass 12.0114 aww

I a.mu 1.6605 104g

Chapter Mole

The mole is a unit similar to a dozen

1 dozen 12

I dozen eggs 12 eggs

1 dozen rocks 12 rocks

23

I mole 6 022 x 10

1 mole eggs 6,022
1023eggs

original definition of mole of atones in

exactly 12g of C

2C 66Pa 12am u

6 022 X 102 atoms I mole



New definition of mole

Exactly 6022 14076 2023
Thingsto

23Tuse to 4 Sigfigs 6.022 10

mole is called Avogadro's Na

I moi Carbon

6 723 smote oxygen

of use

3.72 dozen eggs

3.72 dozen x 12 44.64 eggs1 dozen Td
44.6 eggs

3 72 moles of carbon atones

3 6.0422 18 109 2.240184 1024atoms
3.72 moles C atom Features

T2.24 1024atomsC



3 72 X 6.022 E 23 2.240184 104
EE
x
10

up x to y 23

How many grains does 1 more of weigh
rude aearmuffs g

aw

I mole atoms amu g
1 mole 6.022 1023

I C atom 12 amu
24I aww 1.6606 10 g

5 Sf
g
exceed def

a 24
6.022 102 along e

1.6606 1090
1 mole d q 1 atom land

12.00 015984 gU

IZcoogkcinlmolefp.tnd
sauce

12 amu

top 1 mole 12.00g



How many g of C are in i mole of average

Carbon Atl isotopes Axe mass 12.0114 amu

Is.io ueaouae

mole atoms aww g

6.02211023Catoms mo 1 60 6 0

I mole C x I C atom I am

12.01455999g
6 022 EE 23 12.0114 1 6606 EE Eg

24

Change

f sign

amuiatomnf.co EEIaIEEaEEam
also91m01
The mass of 1 mole
of C in g



I 6 7
C al

o it
15.9994 1.00794 22,0114 14.00674

T
a.mu
atomg1mole

I 0 atom 15.9994 ainu

1 mole O 15.9994g
gamulatorn gglmole

How we use atomic mass us Molar mass

How many amu's do 10 hydrogen atoms

wejga.hn ed exact 6
1.00794 aww 10,0794 aww

10 It atoms x I atom A

How many graves does
1.52 moles of

hydrogen weigh
3 1.007694g It 1,53120688g H1.52 mole A Felt

1.53 gl ydrog



molar mass glmoce
Conversion factor

g f mole

mass count

How many g does
10 atoms of It weigh

1 6606 XI024g 23
I 00794 aww 1.6738 10 g10 atom H x 1 awwdon't

6zzqxioB

need 6 Sig figs
Add Zeros to get

0 320000 of requiredSigfigs



New homework set up for tonight
on Canvas Chapter 2 Suggested

New Quiz up on Canvas
Dimensional Analysis The wed night


